Verb To Be Exam
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1. They at home.
is

are

am

2. This Verb has 3 forms in the Indicative.
True
False

3. Jenny my best friend.
is

are

am

4. The Negative form of "Are" is "Be Not".
True
False

5. Jim and Emma in my class.
is

am not

are

6. Which of the following sentences is grammatically correct?

He's tall and smart
He am tall and smart
He not isn't tall and smart



7. you studying hard?
Are

Is

Not

8. The Past form of the Verb to be is only "Was".
True
False

9. They going to the cinema.
are isn't

are not

am

10. This Verb does not need an auxiliary in the negative form.
True
False

11. In the Interrogative form, we write the Verb after the Subject.
True
False

12. your pet.
Am you
| are not
I am not

13. He wearing a hat.
is

she is

aren't

14. They playing rugby yesterday.
was

were

wasn't



15. she tired?
Are

Were

Was

16. My mum at work.
was not

weren't

she is

17. Which of the following sentences is grammatically wrong?
It weren't hot

It was hot yesterday

It's hot today

18. crying.
The baby were
The baby is

Are the baby

19. walking?
Is he

Is you

Am you

20. The Past Participle of this Verb is "Been".
True
False

Correct Answers on final page.
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are

True

is

False

are

He's tall and smart
Are

False

are not

. True

. False

.l am not
.is

. were

. Was

. was not

. It weren't hot
. The baby is
.Is he

. True
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